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1. Find the missing number 

   
  a) 10 b) 12 c) 14 d) 16 
 tpLgl;l vz;izf; fhz;f 

  
 a) 10                             b) 12                              c) 14  

                             d) 16 
 
2. A wooden box of 2cm thickness has inner measurements 6cm long 2cm breath 
 and 1cm height. The volume of the wood in the box is 

  a) 96 𝑐𝑚3 b) 64 𝑐𝑚3 c) 288 𝒄𝒎𝟑  d) 300𝑐𝑚3 
 2 nr.kP jbkd; nfhz;l cs; msT 6 nr.kP ePsk; 2 nr.kP mfyk; kw;Wk; 1 

nr.kP cauk; cs;s kug;ngl;bapy; kuj;jpd; fd msthdJ 
 a) 96 f.nr.kP      b) 64 f.nr.kP        c) 288 f.nr.kP     d) 300 

f.nr.kP 
 
3. The perimeter of semicircle with radius 28cm is 
  a) 88cm b) 116cm c) 144cm d) 56cm 

 Muk; 28 nr.kP cila miutl;lj;jpd; Rw;wsthdJ 
 a) 88 nr.kP       b) 116 nr.kP  c) 144 nr.kP  d) 56 nr.kP 

 
4. What is next?  
  0, 0.5, 0.6666….., 0.75, ? 
  a) 0.87 b) 0.85 c) 0.8 d) 0.79 
 mLj;jJ vd;d? 
 0>0.5>0.6666…> 0.75>? 

  a) 0.87 b) 0.85 c) 0.8 d) 0.79 
 
5. A cavity of 5m × 3m × 2m is filled with sand. The cost of one cubic meter of sand 
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 isRs. 500. Total cost to fill the cavity is 
  a) Rs.15,000 b) Rs.30,000 c) Rs.50,000 d) Rs.53,000 

 5 kP × 3 kP × 2 kP msTs;s xU Fop kzyhy; epug;gg;gLfpwJ. xU fd 
kPl;lh; kzy; tpiy Rs. 500. Fopia %Ltjw;fhd nkhj;jj; njhifahdJ 

 a) Rs.15>000  b) Rs 30>000      c) Rs. 50>000  d) Rs. 53>000 
 
6. What is the missing number in the proportion? 4 : 13 :: 64 : ----------------- 
  a) 168 b) 198 c) 208 d) 228 
  nfhLf;fg;gl;;l tpfpjj;jpy; tpLgl;l vz; ahJ? 4:13::64:-------- 
  a) 168 b) 198 c) 208 d) 228 
 
7. 45% of 640 + 64% of 450 = ----------------% of 1440. 
  a) 54 b) 40 c) 45 d) 50 
  640 ,y; 45 % + 450 ,y; 64 % = 1440 ,y; -----------% 
  a) 54 b) 40 c) 45 d) 50 
 
8. The price of an item inclusive of VAT is Rs.9,720. If VAT is 8% then the cost price 
 of the item is  

  a) Rs. 9,000 b) Rs. 9,100 c) Rs. 9,120 d) Rs.9,200 
 kjpg;Gf;$l;L thpAld; xU nghUspd; tpiy &.9>720. kjpg;G $l;L thp 8% 

vdpy; mjd; mlf;f tpiy vd;d? 
 a) &.9>000  b) &.9>100      c) &.9>120  d) &.9>200 

 
9. A trader has 500kg of rice,  part of which he sells at 18% profit. He gains 10% on 
 the  whole. The quantity sold at 18% profit is  

  a) 100kg  b) 200kg  c) 300kg  d) 400kg 
 xU tzpfh; jd;dplKs;s xU gFjp mhprpia 8 rjtpj yhgj;jpw;F kPjpia 

18 rjtpfpj yhgj;jpw;F tpw;gid nra;jjpy; nkhj;jKs;s 500 fpNyh 
mhprpf;F 10 rjtpfpj yhgk; ngw;whh;. mth; 18 rjtpfpj yhgj;jpw;F tpw;w 
mhprpapd; msthdJ? 

 a) 100 fpNyh      b) 200 fpNyh  c) 300 fpNyh  d) 400 fpNyh 
 

10. The value of 
(𝑥−𝑦)3+ (𝑦−𝑧)3+ (𝑧−𝑥)3

9 𝑥−𝑦  𝑦−𝑧 (𝑧−𝑥)
 is 

  a) 
1

12
  b) 

1

9
   c) 

𝟏

𝟑
  d) 1 

 
(x−y)3+(y−z)3+ z−x 3

9 (x−y)(y−z)(z−x)
 ,jd; kjpg;ghdJ 

  a) 
1

12
  b) 

1

9
   c) 

𝟏

𝟑
  d) 1 

 

11. The LCM of 
2

3
,

3

5
,

4

7
,

9

13
 is 
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  a) 
12

35
  b) 

36

91
  c) 

1

36
  d) 36 

 
2

3
> 

3

5
> 

4

7
> 

9

13
 - d; kPg;ngU nghJ klq;fhdJ 

 a) 
12

35
                        b) 

36

91
                                c) 

1

36
                                

d) 𝟑𝟔 
 
12. If 20% discount on the marked price and then another 5% discount on the new 
 price is given then the overall discount is 

  a) 22% b) 23.5% c) 24% d) 25% 
 Fwpj;j tpiyapypUe;J 20% js;SgbAk;> ,e;j GJ tpiyapypUe;J NkYk; 

5% js;SgbAk; nfhLf;fg;gl;lhy; nkhj;jj;jpy; js;Sgb 
 a) 22%   b) 23.5%  c) 24%   d) 25% 

 
13. What comes next? 
  a, (𝑎2 + 1),  (𝑎2 +  1)2 + 1 ,…….  
  a) ((𝑎2 +  1)2 + 1)2   b) ((𝑎2 +  1)2 + 1)2+ 12 
  c)  ((𝒂𝟐 +  𝟏)𝟐 + 𝟏)𝟐  +  𝟏    d)   ((𝑎2 +  1)2 +  1) +  1  

 mLj;J tUtJ vd;d? 
  a, (a2+1), ((a2+1)2+1)….. 
  a) ((𝑎2 +  1)2 + 1)2   b) ((𝑎2 +  1)2 + 1)2 + 12 
  c)  ((𝒂𝟐 +  𝟏)𝟐 + 𝟏)𝟐  +  𝟏    d)   ((𝑎2 +  1)2 +  1) +  1  
 
14. If the price of an article increase from Rs.80 to Rs. 100 then the increase in 
 percentage is 

  a) 
5

4
%    b) 

4

5
%   c) 20%   d) 25% 

 xU nghUspd; tpiy 80 &ghapypUe;J 100 &ghahf cah;ejJ vdpy;  
 cah;T rjtPjk; 

a) 
5

4
%    b) 

4

5
%                           c) 20%                        d) 25% 

 
15. Find the length of the canvas 1.25m wide required to build a conical tent of base 
 radius 7metres and height 24 metres 

  a) 430 m b) 440 m c) 445 m  d) 450 m 
 7 kPl;lh; mb MuKk;. 24 kPl;lh; cauKila xU $k;G tbt $lhuj;jpid 

tbtikf;fj; Njitahd 1.25 kP mfyKila Kul;Lj;Jzpapd; ePsk; 
fhz;f 

 a) 430 kP  b) 440 kP      c) 445 kP   d) 450 kP 
 
16. A, B and C are three identical spheres made of different metals. If B weight more 
 than C but less than A, then the value of density of  

  a) B is the greatest b) A is the greatest c) B is the least d) A is the least  
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 A B kw;Wk; C Mfpad ntt;NtW cNyhfq;fshyhd xj;j %d;W 
Nfhsq;fshFk; B, C iaf; fhl;bYk; mjpfkhd kw;Wk; A iaf; fhl;bYk; 
Fiwthd viliaf; nfhz;lJ vdpy;> mlh;j;jpiaf; nghUj;jstpy; 

 a) B kpf mjpf kjpg;GilaJ    
 b) A kpf mjpf kjpg;GilaJ 
 c) B kpf mjpf kjpg;GilaJ  
 d) A kpf mjpf kjpg;GilaJ  

 
17.  The salary of a person was reduced by 10%. By what percent should his reduced 
 salary be raised so as to bring it as par with his original salary? 

  a) 𝟏𝟏
𝟏

𝟗
% b) 12% c) 10

1

9
% d) 12

1

9
% 

 xU eghpd; Cjpak; 10% Fiwf;fg;gl;lJ. Fiwf;fg;gl;l Cjpaj;ij 
Kjypy; thq;fpa Cjpaj;jpw;F rkkhf cah;j;Jtjw;F Cjpaj;jpy; vj;jid 
tpOf;fhL cah;j;jg;gl Ntz;Lk;? 

  a) 𝟏𝟏
𝟏

𝟗
% b) 12% c) 10

1

9
% d) 12

1

9
% 

 
18.  The area of field is the shape of trapezium measures 1440𝑚2. The perpendicular 
 distance between parallel sides is 24m. If the ratio of parallel sides is 5 : 3, then 
 the length of longer parallel side is 

  a) 45m b) 60m c) 75m d) 120m  
 xU rha;T ehw;fuj;jpd; gug;gsT 1440 kP2 ,uz;L ,izf; NfhLf;F ,ilNa 

cs;s nrq;Fj;J Nfhl;bd; cauk; 24 kP. NkYk; ,iz NfhLfspd; tpfpjk; 
5 : 3 vdpy; nghpa ,izNfhl;bd; ePskhdJ 

 a) 45 kP          b) 60 kP          c) 75 kP           
d) 120 kP 

 
19. The missing term of the following sequence is  
  4, 5 ? 40  104  229 
  a) 6 b) 13 c) 14 d) 22  

 fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ  
 4> 5 ? 40 104 229 

  a) 6 b) 13 c) 14 d) 22  
 

20. 
5

4
, 65%, 4 out of 7 – Of these three which is greatest? Which is the least? 

  a) 4 out of 7 is least 65% is greatest 

  b) 4 out of 7 is least  
𝟐

𝟑
 is greatest 

  c) 65% is least  
𝟐

𝟑
 is greatest 

  d) 
𝟐

𝟑
 is least 65% is greatest 

 
2

3
, 65%, 7 ,y; 4 gq;F ,k;%d;wpy; vJ kPg;nghpaJ? vJ kPr;rpwpJ? 
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 a) 7 - ,y; 4 kPr;rpwpJ> 65% kPg;nghpaJ 

 b) 7 - ,y; 4 kPr;rpwpJ> 
𝟐

𝟑
 kPg;nghpaJ 

 c) 65% kPr;rpwpJ> 
2

3
 kPg;nghpaJ 

 d) 
2

3
 kPr;rpwpJ> 65% kPg;nghpaJ 

 
21. Four positions of a dice are shown. Which number of the face will be opposite to 
 the face with number 3? 

     
   
 
 
 
  a) 1 b) 2 c) 4 d)  5 

  
 glj;jpy; gfilapd; ehd;F epiyfs; cs;sd. Kf vz; 3 d; vjph;Gwk; 
cs;s Kf vz; ahJ? 

 
 
   
 
 
  a) 1 b) 2 c) 4 d)  5 
 
22. What comes next? 
  K 15W, J 18 X, I 21 Y, ……. 
  a) H 51 Y b) H 51 X c) H 24 Z d) H 51 W 

 mLj;J tUtJ vd;d? 
 K 15 W, J 18 X, I 21 Y,…. 
 a) H 51 Y                     b) H 51 X                      c) H 24 Z                       d) H 51 W 
 

23. Suresh wants to invest Rs. 10,000 for 3 years. Scheme A offers 8% simple interest 
 per annum and a final 1% bonus on the amount invested. Scheme B offers 8% per 
 annum compounded annually. Which scheme is better? How much amount will 
 suresh get at the end of 3 years if he invests in the better scheme? 

  a) Scheme A is better. Amount = Rs. 12,500 
  b) Scheme A is better. Amount = Rs. 13,200 
  c) Scheme B is better. Amount = Rs. 12,597 
  d) Scheme B  is better. Amount = Rs. 25,970 
 RNu\; 10>000 &ghia 3 tUlq;fSf;F KjyPL nra;a tpUk;Gfpwhh;. jpl;lk; 

A tUlj;jpw;F 8% jdptl;b filrpahf KjyPLf;F 1% Nghdhy; jUfpwJ. 
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jpl;lk; B 8% $l;L tl;b> tUlj;jpw;F xU Kiw tl;b $l;lg;gLfpwJ. 
,uz;by; vJ ey;y jpl;lk;? me;j ey;y jpl;lj;jpy; KjyPL nra;tjhy; 3 
Mz;LfSf;F gpd; RNu\; ngWk; njhif vd;d? 

 a) A jhd; ey;y jpl;lk; njhif = &.12>500 
 b) A jhd; ey;y jpl;lk; njhif = &.13>200 
 c) B jhd; ey;y jpl;lk; njhif = &.12>597 
 d) B jhd; ey;y jpl;lk; njhif = &.25>970 

 
24. The population of a village grows by r% every year. In 2 years the population 
 increases from 10000 to 11025. Then r is 

  a) 5 b) 3.5 c) 2.5 d) 1.5 
 xU fpuhkj;jpd; kf;fs;njhif Mz;L xd;W r% tPjk; rPuhf $bf; nfhz;L 

nry;fpwJ. 2Mz;Lfspy; kf;fs;njhif 10000 j;jpypUe;J 11025 Mf 
mjpfhpj;Js;sJ. vdpy; r vt;tsT? 

  a) 5 b) 3.5 c) 2.5 d) 1.5 
 

25. If 8
1

4
 - 4

1

5
 + 2.8 + 

4

𝑥
 - 2.32 = 5.33 then the value of 𝓍 is 

  a) 40 b) 4 c) 5 d) 50 

 8 
1

4
 - 4 

1

5
 + 2.8 + 

4

x
 - 2.32 = 5.33 vdpy; x-d; kjpg;ghdJ 

  a) 40 b) 4 c) 5 d) 50 
 
26. If a : b = 5 : 9 and b : c = 4 : 7 then a : b : c is 
  a) 36 : 20 : 63 b) 36 : 63 : 20 c) 20 : 36 : 63 d) 63 : 36 : 20 
  a : b = 5 : 9 kw;Wk; b : c = 4 : 7 vdpy; a : b : c MdJ 
  a) 36 : 20 : 63 b) 36 : 63 : 20 c) 20 : 36 : 63 d) 63 : 36 : 20 
 
27.  If a certain sum at a certain rate of simple interest amounts to Rs.3,810 in 3 

 years and Rs.4,890 in 7 years, then the sum and rate of interest are 
  a) (3,000, 3.5) b) (4,000, 9) c) (4,000, 4.5) d) (3,000, 9) 

   xU njhif jdp tl;bg;gb &.3>810 – I tUlj;jpYk; tl;bAld; 
nfhLf;fpwJ. mry; kw;Wk; tl;b tPjkhdJ. 

  a) (3,000, 3.5) b) (4,000, 9) c) (4,000, 4.5) d) (3,000, 9) 
 
28.  Two men A and B can do a work alone in 8 days and 20 days respectively.  They 

did       work together for 4 days. Find the remaining portion of work to be 
 completed?  

  a) 
7

10
   b) 

𝟑

𝟏𝟎
  c) 

10

7
  d) 

10

3
 

 A kw;Wk; B vd;w kdpjh;fs; jdpj;jdpNa xU Ntiyia 8 ehl;fs; kw;Wk; 
20 ehl;fspy; Kbg;ghh;fs;. ,UtUk; Nrh;e;J 4 ehl;fs; Ntiy nra;j gpd; 
Kbf;fg;gl Ntz;ba Ntiyapd; ghfk; vd;dthf ,Uf;Fk;? 
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  a) 
7

10
   b) 

𝟑

𝟏𝟎
  c) 

10

7
  d) 

10

3
 

 
29. If the capacity of cylindrical tank is 1848𝑚3 and diameter of its base is 14m then 
 depth of the tank is 

  a) 10 m b) 12 m  c) 14 m d) 16 m 
 xU cUis tbt njhl;bapd;; nfhs;ssT 1848 kP3 kw;Wk; mjd; tl;l 

mbg;Gwj;jpd; tpl;lk; 14 kP vdpy; me;j njhl;bapd; caukhdJ 
 a) 10 kP           b) 12 kP                         c) 14 kP                         

d) 16 kP 
 
30. Mohammed sells a shirt costing Rs. 300 at 20% loss to Salim. Salim sells it at a 
 profit of 10%. At what price did Salim sell the shirt? 

  a) Rs. 264 b) Rs. 270 c) Rs. 280 d) Rs. 330 
 KfkJ &.300 mlf;ftpiy nfhz;l rl;ilia 20% e\;lj;jpw;F ryPkpw;F 

tpw;whh;. ryPk; mij 10% yhgj;jpw;F tpw;why;> ryPk; vd;d tpiyf;F 
rl;ilia tpw;whh;? 
a) &.264  b) &.270  c) &.280  d) &.330 

 

31. Simplfy :  
(22)3

(32)2
  

  a) 
64

81
    b) 

4

9
    c) 

𝟖

𝟗
    d) 

2

3
    

 RUf;Ff :  
(22)3

(32)2
 

 a) 
64

81
   b) 

4

9
   c) 

𝟖

𝟗
   d) 

2

3
 

 
 
32. The least number when divided by 6, 7, 8 and 9 leaves the same remainder 1 in 
 each case is  

  a) 3025 b) 1680 c) 840 d) 505 
 6> 7> 8 kw;Wk; 9 My; tFf;f xNu khjphp kPjp 1 tUfpd;w kpfr; rpwpa 

vz;zhdJ 
  a) 3025 b) 1680 c) 840 d) 505 
 
33. Area of trapezium is 960𝑐𝑚2. The parallel sides are 40cm and 60cm. Find the 
 distance between parallel sides 

  a) 18.2 cm b) 19.2 cm c) 20.4 cm d) 21.4 cm 
 xU rhptfj;jpd; gug;G 960 nr.kP2 mjd; ,iz gf;fq;fs; 40 nr.kP kw;Wk; 60 

nr.kP vdpy; ,iz gf;fq;fSf;F ,ilg;gl;l J}uj;ij fhz; 
 a) 18.2 nr.kP      b) 19.2 nr.kP  c) 20.4 nr.kP  d) 21.4 nr.kP 
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34. 7men can do a work in 52days. In how many days can 13 men can finish the same 
 work?  

  a) 21 days b) 28 days c) 24 days d) 30 days 
 7 Ml;fs; xU Ntiyia 52 ehl;fspy; Kbg;ghh;fs; vdpy; mNj Ntiyia 

13 Ml;fs; vj;jid ehl;fspy; Kbg;ghh;fs;? 
 a) 21 ehl;fs;  b) 28 ehl;fs;  c) 24 ehl;fs;  d) 30 ehl;fs; 
 
35. If a cube which is painted white on top and red on other 5 sides is cut into 27 
 identical small cubes, how many of the smallest cubes have just one side painted 
 red and other sides unpainted? 

  a) 9 b) 5 c) 3 d) 1 
 xU fd rJukhdJ XNu khjphpahd 27 fdrJuq;fshf Jz;L 

Nghlg;gLfpwJ. Kjypy; ,Ue;j fdrJuk; Nkw;Gwk; nts;isahfTk; kw;w 5 
gf;fq;fs; rptg;ghfTk; th;zk; G+rg;gl;bUe;jJ. rpwpa fd rJuq;fspy; 
vj;jid xNu xU gf;fk; rptg;ghTk; kw;w gf;fq;fs; th;zk; G+rg;glhkYk; 
,Uf;Fk;?  

 a) 9   b) 5   c) 3   d) 1 
 
36. The length of building is 40m and its breadth is 20m. A path of the width 1m is 
 made all round the building outside. Find the area of the path. 

  a) 144𝑚2   b) 134𝑚2   c) 124𝒎𝟐   d) 104 𝑚2 
 xU fl;blj;jpd; ePsk; 40 kP mjd; mfyk; 20 kP fl;blj;ij Rw;;wp ntspapy; 

1 kP mfyj;jpw;F ghij mikf;fg;gl;Ue;jhy; ghijapd; gug;G vd;d? 
  a) 144 kP2  b) 134 kP2  c) 124 kP2  d) 104 kP2 
   
37. When 𝓍 = 25, the value of (5𝑥2 + 10𝓍) ÷ (𝓍 + 2) is 
  a) 125 b) 175 c) 225  d) 250 
  x – 25 vdpy; (5x2 + 10x) ÷(x+2) – d; kjpg;ghdJ 
  a) 125 b) 175 c) 225  d) 250 
 
38. The value of 𝑒° is 
  a) e b) 1 c) 0  d) ∞ 
  e0 – d; kjpg;G 
  a) e b) 1 c) 0  d) ∞ 
 
39. The 7th term of the sequence 0.12,0.012,0.0012 ------------- is 
  a) 1.2 x 106  b) 1.2 x 10−6 c) 1.2 x 107  d) 1.2 x 10−7 
 0.21> 0.012> 0.0012…… vd;w njhlh; thpirapy; 7 tJ cWg;G 
  a) 1.2 x 106  b) 1.2 x 10−6 c) 1.2 x 107  d) 1.2 x 10−7 
 
40.  Simplify :  
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9

8
 + 

3

5
 of  

3

4
+ 

3

5
   

  a) 1
11

18
  b) 1

15

18
  c) 1

13

18
   d) 𝟏

𝟕

𝟏𝟖
 

 RUf;Ff: 
9

8
+

3

5
 - ,y;  

3

4
+

3

5
  

 a) 1
11

18
  b) 1

15

18
  c) 1

13

18
   d) 𝟏

𝟕

𝟏𝟖
 

 
41. A sum of money triples itself at 8% per annum over a certain time. The time 
 taken is 

  a) 20 years b) 22 years c) 25 years  d) 30 years  
 xU Fwpg;gpl;l mryhdJ Mz;Lf;F 8% tl;b tPjj;jpy; %d;W 

klq;fhFtjw;F gpbf;Fk; fhyk; 
a) 20 Mz;Lfs; b) 22 Mz;Lfs c) 25 Mz;Lfs; d) 30 Mz;Lfs; 

 
42. Find the correct relationship between G.C.D. and L.C.M.  
  I.   G.C.D. = L.C.M. 
  II.  G.C.D.≤ L.C.M. 
  III. L.C.M.≤ G.C.D. 
  IV. L.C.M.> G.C.D.    
  a) I b) II  c) III d) IV 
 ,U ntt;ntW vz;fspd; (G.C.D kw;Wk; L.C.M) rhpahd njhlh;G 
 I. kPg;ngU.ngh.t = kPr;rpW.ngh.k 
 II. kPg;ngU.ngh.t ≤ kPr;rpW.ngh.k 
 III. kPr;rpW.ngh.k ≤ kPg;ngU.ngh.t  
 IV. kPr;rpW.ngh.k > kPg;ngU.ngh.t 

a) I   b) II   c) III   d) IV 
 
43. If p, q, r, s, l are in A.P, then the value of p – 4q + 6r – 4s + l is 
  a) 1 b) 2 c) 3 d) 0 
 p,q,r,s,t vd;gd $l;Lj; njhlh; thpirapy; (A,P) ,Ug;gpd;> p-4q+6r-4s+t = ? 
 a) 1   b) 2   c) 3   d) 0 
 
44. The G.C.D. and L.C.M. of 90, 150, 225 is 
  a) 15, 450 b) 450, 15 c) 90, 225 d) 225, 150 
 90> 150> 225 Mfpa vz;fspd; kP.ngh.t kw;Wk; kP.ngh.k 
  a) 15, 450 b) 450, 15 c) 90, 225 d) 225, 150 
 

45. If 𝑦 − 
1

𝑦
 = 6 find the value of 𝑦3 - 

1

𝑦3
 

  a) 216 b) 222 c) 234 d) 228 

 y - 
1

𝑦
 = 6   vdpy;  y3 - 

1

𝑦3
 =  ,d; kjpg;igf; fhz;f.   
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  a) 216 b) 222 c) 234 d) 228 
 
46. Reciprocal of 0 is -------------------- 
  a) 0 b) 1 c) ∞ d) no reciprocal 
  0 tpd; jiyfPop  + _________________ 

  a) 0                          b) 1  
  c) ∞                         d) jiyfPop fpilahJ 
 
47. Which one of the following statement is false? 
  a) Among the common divisors of given numbers, the greatest divisor is the 
 G.C.D. 

  b) If the G.C.D. of any two numbers is 1 they are said to be prime numbers 
  c) Among the common multiples of given numbers, the least is the L.C.M. 
  d) The product of any two numbers is equal to the product of their G.C.D. and 
  L.C.M. 
  fPo;fhZk; $w;Wfspy; vJ jtwhd $w;whFk;? 
 a) ntt;NtW vz;fspd; nghJ tFj;jpfspy; kpfg;nghpa tFj;jp 

mt;ntz;fspd; kPg;ngU nghJ tFj;jp MFk;  
 b) ,U vz;fspd; kPg;ngU ngh.t 1 vdpy; mt;tpU vz;fSk; gfh vz;fs; 

vdg;gLk;. 
 c); ntt;NtW vz;fspd; nghJ klq;Ffspy; kpfr;rpwpa klq;F mt;ntz;fspd; 

kPr;rpW nghJ klq;F MFk;. 
 d) ,U vz;fspd; ngUf;fw;gyd; mtw;wpd; kPg;ngU ngh.t. kw;Wk; kPr;rpW 

ngh.k Mfpatw;wpd; ngUf;fw;gyDf;Fr; rkkhFk;. 
  
48. If the product of four consecutive terms in G.P is 625. Find the first term. 
  a) 15 b) 25 c) 5 d) 35 
     xU ngUf;Fj; njhlh; thpirapd; mLj;jLj;j ehd;F cWg;Gfspd; ngUf;Fj; 

njhif 625 vdpy; Kjy; cWg;igf; fhz;f. 
  a) 15 b) 25 c) 5 d) 35 
 
49. Gain or loss percent is always calculated on 
  a) cost price  b) Selling price c) gain   d) loss 
 ,yhg my;yJ el;l rjtPjk; vg;nghOJk; vjd; Nky; fzf;fplg;gLfpwJ? 
 a) mlf;ftpiy b) tpw;gidtpiy c) ,yhgk;  d) el;lk; 
 
50. A student goes to his school from his house at a speed 3 km/hr and returns at a 
 speed of 2 km/hr. If he takes 5 hours in going and coming the distance between 
 his house and school is 

  a) 5 km b) 5.5 km c) 6 km d) 6.5 km 
 xU khztd; mtDila gs;spf;F nry;Yk; NghJ kzpf;F 3 fp.kP 
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Ntfj;jpYk; gs;spapypUe;J tPL jpUk;Gk; NghJ kzpf;F 2 fp.kP Ntfj;jpYk; 
nry;fpwhh;. NkYk; mth; gs;s;pf;F nrd;W tu 5 kzp Neuk; vLj;Jf; 
nfhz;lhy; gs;spf;Fk; tPl;bw;Fk; cs;s J}uk;  

 a) 5 fp.kP  b) 5.5 fp.kP  c) 6 fp.kP  d) 6.5 fp.kP 
 
51. If 𝓍, 2𝓍 + 2, 3𝓍 + 3 are in G.P, then 11𝓍, 22𝓍  + 22, 33𝓍 + 33 form 
  a) an A.P.  b) a G.P. 
  c) a constant sequence d) Neither A.P. nor a G.P. 
 x, 2x + 2, 3x + 3 vd;gd xU ngUf;Fj; njhlh; thpirapypUg;gpd; 11x, 22x + 22, 33x + 33 vd;w  
 njhlh; thpirahdJ 
 a) xU $l;Lj; njhlh;thpir  
 b) xU ngUf;Fj; njhlh;thpir  
 c) xU khwpypj; njhlh;thpir  
  d) xU $l;Lj; njhlh; thpirAk; my;y ngUf;Fj; njhlh; thpirAk; my;y 
 
52. The sum of three numbers is 264 if the first number be twice the second and 
 third number be one – third of the first, then the second number is 

  a) 48 b) 72 c) 54 d) 64 
 %d;W vz;fspd; $Ljy; 264 Kjy; vz; ,uz;lhtJ vz; Nghy; ,Uklq;F. 

%d;whtJ vz; Kjy; vz;zpy; %d;wpy; xU gq;F vdpy; ,uz;lhtJ vz; 
ahJ? 

 a) 48   b) 72   c) 54   d) 64 
 
53. If 12 + 22 + 32 + …….+ 102 = 385 then 22 + 42 + 62 + ………..+ 202 is  
  a) 770 b) 1150 c) 1540 d) 385 ×  385 

          12+22+32+ ….. 102 = 385  vdpy; 22 + 42+62+……..+ 202 – d; kjpg;G 
  a) 770 b) 1150 c) 1540 d) 385 ×  385 
 
54. In the ratio 𝓍% of 𝑦 to 𝑦% of 𝓍, its fraction value is equals to 

  a) 
1

𝑥𝑦
  b) 𝑥𝑦  c)

𝑥

𝑦
  d) 1 

 y d; x% f;Fk; x d; y% ,ilNa tpfpj gpd;dj;jpd; kjpg;G 

  a) 
1

𝑥𝑦
  b) 𝑥𝑦  c)

𝑥

𝑦
  d) 1 

 
55. Arun is now half as old as his father. Twelve years ago the father’s age was three 
 times as old as Arun. Now the present age of his father’s age is 

  a) 24 years b) 36years c) 48 years d) 50 years 
 mUzpd; jw;Nghija taJ je;ijapd; tajpy; ghjpahFk;. gd;dpuz;L 

Mz;Lfl;F Kd;G je;ijapd; tajhdJ mUzpd; taijg; Nghy 
Kk;klq;fhf ,Ue;jJ. jw;NghJ je;ijapd; taJ. 

 a) 24 Mz;Lfs; b) 36 Mz;Lfs;  c) 48 Mz;Lfs; d) 50 Mz;Lfs; 
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56. If a, b, c are in A.P., then 3𝑎 , 3𝑏 , 3𝑐  are in 
  a) A.P. b) G.P. c) A.P. and G.P. d) None of these 
 a, b, c vd;gd xU $l;Lj; njhlh;thpirapy; cs;sd vdpy; 3a, 3b, 3c Mfpait 

vd;w njhlh;thpirapy; cs;sJ. 
 a) A.P    b) G.P   c) A.P kw;Wk; G.P d) VJk; ,y;iy 
 
57. If – 1 < r< 1, then the sum of infinite number of a geometric series is 

  a) 
𝑎 (𝑟𝑛− 1)

𝑟−1
  b) 

𝑎 ( 1− 𝑟𝑛 )

1−𝑟
   c) 

𝒂

𝟏−𝒓
   d) na 

  -1 < r< 1 vdpy; Kbtpyp tiu ngUf;Fj; njhlhpd; $Ljy; 

  a) 
𝑎 (𝑟𝑛− 1)

𝑟−1
  b) 

𝑎 ( 1− 𝑟𝑛 )

1−𝑟
   c) 

𝒂

𝟏−𝒓
   d) na 

 
58. The angle in a semi circle is a -------------- 
  a) acute angle b) obtuse angle        c) straight angle  d) right angle   
 miutl;lj;jpy; mikAk; Nfhzk; ____________ 

 a) FWq;Nfhzk;    b) tphpNfhzk;;     c) Neh; Nfhzk;; d) nrq;Nfhzk; 
 

59. If 
𝑎

3
 = 

𝑏

4
 = 

𝑐

7
  then 

𝑎 + 𝑏 +𝑐 

𝑐
 is 

  a) 7 b) 2                             c) 
1

2
  d) 

1

7
 

  
𝑎

3
 = 

𝑏

4
 = 

𝑐

7
  vdpy;  

𝑎 + 𝑏 +𝑐 

𝑐
  vd;gJ 

  a) 7 b) 2                             c) 
1

2
  d) 

1

7
 

 
60. Which is biggest ratio? 
  2:3, 3:5, 4:7, 5:8 
  a) 3:5 b) 4:7                           c) 5:8 d) 2:3  
 2:3> 4:7> 5:8 ,tw;wpy; nghpaJ vJ? 
 a) 3:5 b) 4:7                           c) 5:8 d) 2:3 
 
62. Length and breadth of a room are 8 m and 5 m respectively. A red colour border  

 of uniform width of 0.4 m has been painted all around on its inside. Then Area of 
 the border is 

  a) 9.76𝒎𝟐 b) 12𝑚2 c) 10.66𝑚2 d) 5.04𝑚2 
 8 kP ePsKk; 5 kP mfyKk; nfhz;l xU miwapd; cl;Gwkhf Rw;wptu 0.4 

kP mfyj;jpy; rpfg;G tz;zg;ghij G+rg;gLfpwJ. rpfg;G tz;zg; ghijapd; 
gug;gsT ahJ? 

 a) 9.76 kP2  b) 12 kP2  c) 10.66 kP2  d) 5.04 kP2 

 
63. Three equal circles of radius 3 cm touch one another in outside. Find the area 

 enclosed by them 
  a) 10.88𝑐𝑚2 b) 1.45𝒄𝒎𝟐  c) 6.11𝑐𝑚2 d) 29.73𝑐𝑚2 
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 3 nr.kP MuKs;s %d;W tl;lq;fs; xd;iwnahd;W ntspNa njhLk;nghJ 
mtw;why; Fog;gLk; gFjpapd; gug;G 

 a) 10.88 nr.kP2 b) 1.45 nr.kP2  c) 6.11 nr.kP2  d) 29.73 nr.kP2 

 
64. Sum of the deviations taken from the ----------- is  zero 
  a) Median  b) Mode c) Mean d) Variance 
 --------- ypUe;J midj;J cWg;Gfspd; tpyf;fq;fspd; $l;Lj; njhif 

G+r;rpak; MFk; 
a) ,ilkjpg;G   b) KfL   
c) ruhrhp    d) tpyf;f th;f;f ruhrhp 

 
65. Mr. X borrowed Rs. 5, 000 – on 7th of June 2006 and returned it on 19th August 

 2006. Find the amount he paid, if the interest is calculated at 7% per annum 
  a) Rs. 5140 b) Rs. 5070 c) Rs. 5210 d) Rs. 5280 
 jpU x vd;gth; 7.6.2006 md;W 5,000 – I fldhfg; ngw;W mij 19.8.2006 

md;W jpUk;g nrYj;jpdhh;. Mz;bw;F 7% tPjk; tl;b fzf;fplg;gl;lhy; 
mth; nrYj;jpa njhif vt;tsT? 

 c) Rs.5140  b) Rs.5070  c) Rs.5210  d) Rs.5280 
 

66. Simplify : log5 4 + log5
1

100
 

  a) 1 b) -1 c) -2 d) 2 

  RUf;Ff log5
4 + log 5 

1

100
 

  a) 1 b) -1 c) -2 d) 2 

67. Simplify : 
𝑥3+ 8

𝑥4+ 4𝑥2+ 16
 

  a) 
𝒙+𝟐

𝒙𝟐+ 𝟐𝒙+𝟒
     b) 

𝑥−2

𝑥2+ 2𝑥+4
                 c) 

𝑥+2

𝑥2− 2𝑥+4
     d) 

𝑥−2

𝑥2− 2𝑥+4
     

 RUf;Ff 
x3+8

x4+ 4x2+16
 

 a) 
𝒙+𝟐

𝒙𝟐+ 𝟐𝒙+𝟒
                   b) 

𝑥−2

𝑥2+ 2𝑥+4
                 c) 

𝑥+2

𝑥2− 2𝑥+4
      d) 

𝑥−2

𝑥2− 2𝑥+4
     

  
 
69.  For m, n 𝜖 N and m>n, Which of the following is a pythagotrean triplet? 
 a) 𝑚2 + 𝑛2, m + n, 2mn b) 𝒎𝟐 + 𝒏𝟐, 𝒎𝟐 − 𝒏𝟐, 2mn 
 c) 𝑚2 + 𝑛2, m -  n, 2mn d) m + n, m2 − n2, 2mn 
 m > n,m, n ∈ N vd;w epge;jidf;Nfw;g gpd;tUtdtw;Ws; gpjhfu]pd; %d;wd; 

njhFjp vJ? 
 a) 𝑚2 + 𝑛2, m + n, 2mn b) 𝒎𝟐 + 𝒏𝟐, 𝒎𝟐 − 𝒏𝟐, 2mn 
 c) 𝑚2 + 𝑛2, m -  n, 2mn d) m + n, m2 − n2, 2mn 
 

70. If a, b, c are in A.P. then 
𝑎2− 𝑏2

𝑏2− 𝑐2
 is equal to 
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 a)
𝑎−𝑏

𝑎+𝑐
   b) 1 c) 

𝒂+𝒃

𝒃+𝒄
   d) 

𝑎+𝑏

𝑏−𝑐
   

 a,b,c  vd;git $l;Lj; njhlh; thpirapy; mike;jhy; 
a2− b2

b2− c2
 d; kjpg;G 

 a)
𝑎−𝑏

𝑎+𝑐
   b) 1 c) 

𝒂+𝒃

𝒃+𝒄
   d) 

𝑎+𝑏

𝑏−𝑐
   

 
71. In a triangle of concurrence of three angle bisectors is called as 
 a) Centroid b) Orthocentre c) Circumcentre d) Incentre 
 xU Kf;Nfhzj;jpd; %d;W Nfhzq;fspd; ,Urkntl;bfs; re;jpf;Fk; Gs;sp -

--------- MFk;. 
 a) eLf;Nfhl;L ikak;   b) nrq;Nfhl;L ikak; 
 c) Rw;Wtl;l ikak;    d) cs;tl;l ikak; 
 
72. The ratio of the ages of the father and the son at present is 19 : 5. After 4 years 
 the ratio will become 3 : 1. What is the sum of the present ages of the father and 
 the son? 
 a) 40 b) 42 c) 48 d) 52 
 jfg;gd; kw;Wk; kfDila jw;Nghija tajpw;fpilNaahd tpfpjk; 19 : 5 : 

4 tUlq;fSf;F gpwF mth;fspd; taJ 3 : 1 vd;w tpfpj; vd;why; 
,Uthpd; jw;Nghija tajpd; $l;Lj;njhif fhz;f 

 a) 40 b) 42 c) 48 d) 52 
 
73. If 13 + 23 + 33 + …….. + 𝑘3 = 14400, find the sum of 1 + 2 +3 + …… + k 
 a) 144 b) 169 c) 120  d) 441 
 13+23+33 +……… + k3 = 14400 vdpy; 1 + 2+ 3+…..+ k d; $Ljy; vd;d? 
 a) 144   b) 169   c) 120   d) 441 
 
75.  Find the LCM of the following 
 90𝑥2𝑦𝑧3, 150𝑥𝑦3𝑧2, 225𝑥3𝑦3𝑧 
 a) 15 𝑥𝑦𝑧 b) 15𝑥3𝑦3𝑧3   c) 450𝒙𝟑𝒚𝟑𝒛𝟑   d) 450 𝑥𝑦𝑧 
 gpd;tUtdtw;wpd; kP.ngh.k fhz;: 90𝑥2𝑦𝑧3, 150𝑥𝑦3𝑧2, 225𝑥3𝑦3𝑧 
 a) 15 𝑥𝑦𝑧 b) 15𝑥3𝑦3𝑧3   c) 450𝒙𝟑𝒚𝟑𝒛𝟑   d) 450 𝑥𝑦𝑧 
 
76. In a school of 720 students the ratio of boys and girls is 7 : 5. How many more 
 girls are to be admitted to make the ratio 1 : 1 ? 
 a) 100 b) 110 c) 120 d) 105 
 720 khzth;fs; gapYk; gs;spapy; Mz;fs; kw;Wk; ngz;fspd; tpfpjk; 7:5 

MFk;. ,t;tpfpjj;ij 1:1 vd khw;w vt;tsT ngz;fis $Ljyhf Nrh;f;f 
Ntz;Lk;? 

 a) 100 b) 110  c) 120 d) 105 
 



 

15 
 

77. A number is increased by 221
2 % and gives 98. The number is 

 a) 45 b) 18 c) 80 d) 81 
 xU vz;iz 22 1/2 % cah;j;Jk; NghJ 98 fpilf;fpwJ vdpy; me;j vz; 
 a) 45 b) 18  c) 80 d) 81 
 
78. A sum of money triples itself at 10% interest per annum, over a certain time. Find 
 the number of years 
 a) 10 years b) 20 years  c) 25 years d) 15 years 
 xU Fwpg;gpl;l mryhdJ 10% Mz;L tl;b tPjj;jpy; vj;jid Mz;Lfspy; 

%d;W klq;fhFk;? 
 a) 10 Mz;Lfs;    b) 20 Mz;Lfs; c) 25 Mz;Lfs; d) 15 Mz;Lfs; 
 
79. Find simple interest on Rs. 10,950 for 42 days at 10% p.a. 
 a) Rs.116 b) Rs. 74 c) Rs.126 d) Rs. 108  
 &.10>950 vd;w mrYf;F 42 ehl;fspy; Mz;bw;F 10% jdptl;b Kiwapy; 

fpilf;Fk; tl;b vt;tsT? 
 a) &.116  b) &.74  c) &.126  d) &.108 
 
80. In a right ∆ABC,∟𝐵 = 90°, ∟𝐴 =  ∟𝐶  = 45° and AB = BC = a, then AC is equal to 

 a) 2a b) 2𝑎2   c) 3a d) a 𝟐 
 nrq;Nfhz ∆ABC y; ∟𝐵 = 90°, ∟𝐴 =  ∟𝐶  = 45° kw;Wk;  AB = BC = a, vdpy; AC d; 

kjpg;G  
 a) 2a b) 2𝑎2   c) 3a d) a 𝟐 
 
81. Let 𝑟1, 𝑟2 are the radius of two circles. If two circles touches internally, then 
 distance between their centre’s is equal to 

 a) 𝑟1+ 𝑟2   b) 𝒓𝟏 ∼ 𝒓𝟐 c) 𝑟1𝑟2  d) 
𝑟1

𝑟2
 

 r1 , r2 vd;gd ,U tl;lq;fspd; Muq;fs; vd;f. ,U tl;lq;fs; cl;Gwkhfj; 
njhLkhdhy;> tl;l ikaq;fSf;F ,ilNa cs;s J}ukhdJ 

 a) 𝑟1+ 𝑟2   b) 𝒓𝟏 ∼ 𝒓𝟐 c) 𝑟1𝑟2  d) 
𝑟1

𝑟2
 

 
82. The circumcentre of the triangle with vertices at (0,0), (0, 4) and (4, 0) is 

 a) (4, 4) b)  4
3 , 4

3    c) (2, 2) d)  3
4 , 3

4   

 (0>0)> (0>4) kw;Wk; (4>0) Mfpa Gs;spfis Kidfshf nfhz;l 
Kf;Nfhzj;jpd; Rw;Wtl;l ikak;  

 a) (4, 4) b)  4
3 , 4

3    c) (2, 2) d)  3
4 , 3

4   
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83. If the equations 𝐾𝓍 + 2𝑦 = 5; 3𝓍 + 𝑦 = 1 having no solutions then 𝐾 is 
 a) 𝐾 = 3   b) 𝑲 = 𝟔       c) 𝐾 ≠ 6        d) 𝐾 = 4 
 𝐾𝓍 + 2𝑦 = 5; 3𝓍 + 𝑦 = 1 vDk; rkd;ghLfSf;F jPh;T ,y;yhj epiyapy;> K d; 

kjpg;G 
 a) 𝐾 = 3   b) 𝑲 = 𝟔       c) 𝐾 ≠ 6        d) 𝐾 = 4 
 
84. Whole numbers W ={0, 1, 2, 3, 4,………..} are also called as 
 a) Positive integers  b) Counting numbers  
 c) Non – negative integers   d) Integers 
 KO vz;fs; W ={0, 1, 2, 3, 4,………..} vd;gd _________ vdTk; miof;fg;gLk;. 
 a) kpif KO vz;fs;   b) vz;Zk; vz;fs;;  
 c) Fiwaw;w KO vz;fs;  d) KOf;fs; 
 
85. Which of the following is / are true 
 (1) All divisors of a number are also factors for that number 
 (2) All factors of a number are also divisors for that number 
 (3) All divisors of a number need not be factors for that number 
 (4) All factors of a number need not be divisors for that number 
 a) (2), (3) b) (1), (2) c) (1), (2), (3) d) All the four  
 fPo;f;fz;ltw;Ws; vJ / vit rhpahdJ? 
 a) Xh; vz;zpd; vy;yh tFj;jpfSk; mt;ntz;fspd; fhuzpfshFk;   
 b) Xh; vz;zpd; vy;yh fhuzpfSk; mt;ntz;zpd; tFj;jpfshFk; 
 c) Xh; vz;zpd; vy;yh tFj;jpfSk; mt;ntz;fspd; fhuzpahf ,Uf;fj; 

Njitapy;iy 
 d) Xh; vz;zpd; vy;yh fhuzpfSk; mt;ntz;zpd; tFj;jpahf ,Uf;fj; 

Njitapy;iy 
 a) (2), (3) b) (1), (2) c) (1), (2), (3) d) midj;Jk; 
   
86. Find the value of x 
  324     289    x 
              
 
            
 13                         5   11                        6   21                        7 
 a) 847   b) 487   c) 784   d) 748 

x-d; kjpg;G fhz;f.  
  324     289    x 
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 13                         5   11                        6   21                        7 
a) 847   b) 487   c) 784   d) 748 

 
87. Find the greatest number that will divide 51, 99, 191 so as leave the same 
 reminder in each case. 
 a) 4   b) 7   c) 9   d) 8 

51, 99, 191  Mfpa vz;fis ve;j kpfg; nghpa vz;zhy; tFf;Fk; nghOJ 
kPjp rkkhf fpilf;Fk;? 

 a) 4   b) 7   c) 9   d) 8 
 
88. Find the difference between simple interest and compound interest on Rs. 2,400 
 at 2 years at 5% per annum compounded annually. 
 a) Rs.5   b) Rs.6  c) Rs.8   d) Rs.7 

&.2>400f;F 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
jdptl;bf;Fk; cs;s tpj;jpahrk; fhz;f. 

 a) &.5   b) &.6   c) &.8   d) &.7 
 
89. Find the value of ‘x’ 

   
 a) 3   b) 9   c) 6   d) 12 

x d; kjpg;G fhz;f. 
 
 
 
 
 
 
 

 
 
a) 3   b) 9   c) 6   d) 12 

 

90. If 
a+b

a−b
  and 

a3−b3

a3+b3
   are the two rational expressions, then their product is  

 a) 
𝐚𝟐+𝐚𝐛+𝐛𝟐

𝐚𝟐−𝐚𝐛+𝐛𝟐
    b) 

a2− ab +b2

a2+ ab +b2
    c) 

a2− ab− b2

a2+ab +b2
    d) 

a2+ab +b2

a2−ab−b2
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𝑎+𝑏

𝑎−𝑏
  kw;Wk; 

𝑎3−𝑏3

𝑎3+𝑏3
 Mfpad ,U tpfpjKW Nfhitfs; vdpy; mtw;wpd; 

ngUf;fy; gyd;. 

 a) 
𝐚𝟐+𝐚𝐛+𝐛𝟐

𝐚𝟐−𝐚𝐛+𝐛𝟐
    b) 

a2− ab +b2

a2+ ab +b2
    c) 

a2− ab− b2

a2+ab +b2
    d) 

a2+ab +b2

a2−ab−b2
 

 


